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CSSE 375 – Software Construction and Evolution
Quiz 21

1. What is the “hydra effect” in programming?



2. On Slide 5, where are the two places that the new code, to make the required change, could be placed in the existing method?



3. What is wrong with making changes by “temporal coupling”?



4. On slide 8, how would most people try to add the feature “to update a file with the employee’s name”?



5. How instead does Feathers recommend making the slide 8 change?



6. Why does Feathers believe, as you keep maintaining a system, you can’t cut down on the time needed to discover where to make a change?



7. Why do builds run faster when references to classes are replaced by references to interfaces?


8. Would avoiding a rebuild that included relinking to a database system be faster?


9. What is Feathers’ “compilation firewall” in Slide 16?


10. What are “reverse dependencies”?


11. Why would most people duplicate code in the situation shown on slides 22-23?


12. Why does Feathers suggest parameterizing this change?
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